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UGS—-280

B.Sc. (Part-1I) Examination, 2021
MATHEMATICS
Paper - 1II

(Differential Equations)

Time : 1% Hours | [ Maximum Marks : 66
Section—-A (Marks : 1 x 10 = 10)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

1 mark.

(Tus—3) (3® : 1 x 10 = 10)
Tt T/ YAl % S SN (SW-EE 50 ) | ToE We 1 3 Wl B
Section-B (Marks : 4 x 5 = 20)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 4 marks.

(Tus-9) (3% : 4 x 5 = 20)
[t Ut el & SR T | T e § foehed T = A (IW-TH 200 ) |
TAF T 4 HF H T

Section—C (Marks : 12 x 3 = 36)
Answer any three questions out of five (Answer limit 500 words). Each
question carries 12 marks.

(@us—a) 37k : 12 x 3 = 36)
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Section-A
(TUs-3)
1. (1) Write the definition of Exact differential equation.
FoTad (Fed) STEHA HHIRO w1 aRven fafew |
(i)  Solve :
A I
1+ D) dy=(1+% dx

(ii1))  Solve :
T HIT
D3+ 1)y=0

(iv)  Write the general form of homogeneous linear differential equation.

THEE s sTashdl GHIRIT &1 oabe ®Y fafEu |
(v)  Define linear differential equation of Second Order.

fadta @ife & Yaw sTawa gHmw w1 aRafia St
(vi)  Write the hypergeometric differential equation.

BEW SAMHAIE STerhel e fafem
(vii) Define partial differential equation.

YR 3Tahel THIRIOT hl RIS shifea |

(viii) Solve :

B I
P -q =
(ix) Solve :
A I
r=a’t
(x)  Solve :
A HINY :

(D2-2DD' + D) z=¢ * %
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Section-B (@US-)

2. Solve :
A HIT :
(x+2y3)ﬂz
dx
Or (31ga)
Solve :
TA HIT :
(ax+hy+9dc+(hx+by+pHdy=0
3.  Solve :
TA HIT :
(D?-2D + 1)y =2 &>
Or (3rga)
Solve :
A HIT :
%—7x+y20
%—Zx—Syzo
4.  Solve :
A HIT :
i;/Jrcotxd—eréL coseczxy =0
dx dx
Or (3Ag)
Solve :
TA HIST
2
sinzx;lx—;):Zy

given y = cot x is a solution.
& TH ' y = cot x fEA B
5. Solve :

A HIVT :
p + 3¢ = 5z + tan(y — 3x)
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10.

11.

Oy (31d)

Solve :
TA HIT :
@ =x+y
Solve :
TA HIVT :
r—2s+ t=sin2x + 3y)
Or (31ran)
Solve :
TA HIVT :
ox® B 63/3 -
Section—-C (WUS-—H)
Solve :
TA HIT :
(x3y3 + xzyz + xy + 1) ydx + (x3y3 —xzyz —xy+ 1) xdy =0
Solve :
TA HIT :

(x+a)2%—4(x+a);l—i+6y:x
Solve in series the following linear differential equation :
frefafed aw sowa aHiE &1 9o 5 7 His

2¢(1-xy"+(1-xy +3y=0
Solve by Charpit method :
=Ry fafy ¥ g HifST .

P+ @x+p)-1=0
Solve by Monge’s method :
| fafy ¥ & wifsw .
2s + (V[—SZ) =1
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